Answers 
Exploring the Reef
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a.  What is the resolution of the image?  4-meter

b.  How many images were tiled to create this image of Tutuila?  6

c.  Who created the image?  NOAA Coastal Services Center

d.  When was the image created?  2001
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2a.  What is the length of the long runway in meters?  Approximately 2800 meters (answers will vary somewhat).

2b.  What is the length of the long runway in feet?  9300 feet (answers will vary).

3a.  What are the white blotches around the shallow parts of the reef?  Wave tops or breaking waves.

3b.  How many channels (‘ava) leading from the shallow part of the reef out to sea can be seen?  Three

3c.  Why isn’t this part of the image as useful…?  You can’t see as far into the water.  The water is too choppy.

3d.  What is causing the water to be less transparent? Waves

3e.  Why is the water in the lagoon red?  Sediment

3f.  Would you expect to find coral here?  No.  The water is not transparent enough.  Too much sediment in the water, etc.
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4a.  What is the maximum depth of Pago Pago Harbor?  78 m.

4b.  What is the mean depth of Pago Pago Harbor?  44.25 m.
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a.  How long is the wreck (in meters)?  95 m (answers will vary a little)
b.  How deep is the wreck?  Between 35 and 40 m.
c.  How did the Chehalis sink?  An explosion (from the websites)

d.  What was she carrying?  Gas (from the websites)

e.  Is the Chehalis still a pollution concern today?  Yes, the cargo holds still contain gas that could potentially leak into the harbor.
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These answers will vary depending on which fish students choose from the NPSA Fish Inventory.

Benthic Classifications
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1.  What is the scale of the broad-scale BPI you calculated?  40 * 5 = 200

2a.  If you want a scalefactor of 400 and your grid resolution is 10m, what outer radius should you use?  400/10 = 40.
2b.  If you are using an outer radius of 16 and the grid resolution is 5 m, what is the scalefactor of the BPI?  16 * 5 = 80.

3.  What is the definition of Standard Deviation?  What percentage of values lies within one standard deviation of the mean?  Something like:  Standard deviation tells how spread out numbers are from the average, calculated by taking the square root of the arithmetic average of the squares of the deviations from the mean in a frequency distribution.  Approximately 68% of the samples will be within one standard deviation from the mean.
4.  Answers will vary.

Spatial and 3D Analysis
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a.  What types of applications can you see for a viewshed analysis, either land or sea-based?  Answers will vary.

b.  What industries use viewshed analysis?  You may have to search the internet to find this out.  Be sure to say where you got your information.  Answers will vary, but may include references to forestry applications and mining applications.
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2.a.  How many federal MPAs are in American Samoa?  Three—FBNMS, NPSA, Rose Atoll National Wildlife Sanctuary.
What types of fishing are allowed in Fagatele Bay National Marine Sanctuary and National Park of American Samoa
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